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1. A flask with a volume of 3.16 L contains 9.33 grams of an unknown gas at 32.0°C and
1.00 atm. What is the molar mass of the gas? '
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~ " 2. A common laboratory reaction is the neutralization of an acid with a base. When 50.0
mL of 0.500 M HCl at 25.0°C is added to 50.0 mL of 0.500 M NaOH at 25.0°C in a
coffee cup calorimeter, the temperature of the mixture rises to 28.2°C. What is the heat of
reaction per mole of acid? Assume the mixture has a specific heat capacity of 4.18
J/(g'’K) and that the densities of the reactant solutidhs are both 1.00 g/mL.
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0 '. Use the following data to calculate the density of an unkr'lown liquid?

Mass of the empty beaker . Yodvg =200 MO

Mass of the (empty beaker + unknown) Y.,¥Yg 2= Qed, L 1
Volume of the unknown Yaytws ], - 5. 500
Density

—\0O.2 17 m\

O Which of the following glassware is used to measure volume exactly?

A) Test tube.
B) Erlenmeyer flask
C) Beaker

ipette.

0+ Which one of the following statements is true?
A. Alum must contain aluminum.
@The general formula of an alum is M'M"M(SO:). xH:O
C. The general formula of an alum is M'M"M(SO:)r. xH:O
D. CuSO:s. °H+O is anhydrous salt. :
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Given the following set of data:

- Volume of diluted bleach solution = 15.0

- Volume of 0.10 M S,0;” solution needed mL to titrate diluted
beleach solution =22.0 mL e

- Dilution factor =25 o

Calculate mass % of original bleach SOIUUOB (densmf =1.10 g¢/mL
and molar mass of NaClO = 74. 5) //'
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